HX BN O R O (ER264E3 H 1 B 84E)

RS X
X4 L A0 Hit X A4 QLR AT
% 58 P % -8 P

1 -3 784 878 878| 1,756 40 4 H 263 334 339 673
2| A (fE) 1,041 1,226 1,283 2,509 44 P17 3 3 3 6
4 Fiid 523 555 554| 1,109 45 S H 109 91 81 172
5 o5 e <F 373 518 509 1,027 48 YroH 413 445 516 961
6 UN=! 267 444 399 843 49 HUFRBt 308 328 364 692
8| Al (fF) 363 411 418 829 50 S B 368 379 442 821
10 fEL 205 199 226 425 52 PEDH 434 489 515| 1,004
11 5 H 53]  N\&HE 466 447 560| 1,007
14 WA 6 12 7 19 55 oL 362 397 434 831
15| BRI 1,241 1,504 1,632| 3,136 56 RN 262 267 331 598
16|  FHEHISE 1,051 1,504 1,536] 3,040 57 FEAM AL 173 198 205 403
17 M-S T 365 376 429 805 58 —H 186 178 215 393
18 &R 339 451 453 904 59 N 206 220 251 471
19 A 17 19 20 39 60 IS E1T B 217 221 230 451
20 A H 1,167 1,367 1,386 2,753 61| mE1TH 114 126 137 263
22 ReVh=F 828 989 1,073 2,062 62| ®mHE2TH 149 180 217 397
23 A 278 336 340 676 63| mE3TH 193 205 233 438
24 FH N 898| 1,023 1,120 2,143 64| ®mHE4TH 71 84 81 165
25 J /T 65 7INHHIET 408 481 497 978
27 oW H 267 270 341 611 66| Hrhfr 202 234 244 478
29|  FHEHAGE 11 11 11 67 =] 107 120 140 260
31 L 98 115 102 217 68| A 2T B 224 244 268 512
33 RKE% 1L 305 365 393 758 69 SRR 148 177 206 383
38 H/T 158 198 180 378

39| IR 142 202 212 414 7t 16,113| 18,821| 20,000 38,821




HX BN O R O3 (SERk264E3 A 1 H B17E)

FlEFRo X
HX A (12 8l A H1 X 4 TR L "
% % A 7 LS (oo

311 EWH1ITH 480 472 485 957 391| #MF1TH 479 505 484 989
312| HH2TH 186 221 222 443 392| #WT2TH 108 110 108 218
321| MRITH 429 399 446 845 393 3T H

390| MHE2TH 665 674 688| 1,362 411 XM1TH 378 396 417 813
393 FE3TH 445 493 486 979 412 AKW2TH 350 410 463 873
331| BAE1TH 564 529 520| 1,049 413 KM3TH 275 283 273 556
332| BAH2TH 411 450 457 907 414 K4 TH 388 389 424 813
333| BAM3TH 429 387 430 817 431 WE/ET1TH 410 456 494 950
334| BAM4TH 616 640 776| 1,416 432| WE/HT2T H 845 957| 1,049 2,006
341 KR#M1TH 731 735 749 1,484 44() (NI 648 738 749| 1,487
342| R#2TH 314 354 350 704 451 BIR1ITH 434 478 541| 1,019
343 RH3TH 389 450 453 903 452| EFIR2TH 260 254 318 572
344 R#4TH 284 287 337 624 461| X1 T H 814 1,040 1,082| 2,122
345 KRHSTH 405 396 473 869 462 —XHEB2TH 633 719 742 1,461
351 KM1ITH 905 848 934 1,782 471 AHITH 42 53 66 119
352| EM2TH 1,021 938| 1,071 2,009 472 AH2TH 220 286 289 575
353| K371 H 706 740 776| 1,516 473 A H3TH 188 248 256 504
361| HAFRLITH 265 264 240 504 474 A HATH 315 436 462 898
362| HAHE2T H 410 447 475 922 475 AHS5TH 272 321 351 672
370 W5 v <F 578 624 611| 1,235

31| AHITH 212 293 259 552

3g2| AH2TH 712| 1,057 1,025 2,082 = 18,504 20,136| 21,152 41,288
33| AHS3TH 288 359 321 680 o~ 34,617| 38,957| 41,152 80,109




